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N-Summe:
Scheitelabfluss:

Q Ereignisbeginn:
Ereignisdauer:
Abflussbeiwert:

N-Dauer:
max. N-intensitat:
mittl. N-intensitat:

Verzdgerungszeit:
Vorfeuchte:
Wetterlage:

71,48
24,8

3,1
49

37
111
1,93

hoch
39

Niederschlagsverteilung

EZ G Pegel Kromweiler

e aesser

N

E-.I M

44,4 - 45,6
45,6 - 46,5
46,58 - 45,0
43,0 - 49,7
49,7 - 50,4
50,4 - 51,6
Ll,6-52,40
5Z,8-54,0
o4,0-55,2
55,7 - 56,4
56,4 - 57,6
57,6 - 58,5
5E,8-60,0
e0,0-61,2
B6l,2-62,4
62,4 - 63,6
63,6 - 64,8
64,5 - 66,0
o6,0- 67,2
(ber 67,20

unker 44,40

mm

m3/s

m3/s
Std.
%

Std.
mm/h

mm/h

Std.



